OO 0 SN - 469

Il Semester B.Com. Examination, November/December 2017
(Semester Scheme) (2015-16 and Onwards) (CBCS) (F + R)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions — I

Time ; 3 Hours Max. Marks : 70

Instructions:  Answers should be written completely either in English or
in Kannada.

SECTION-A
1. Answerany five sub-questions. Each sub-question carries two marks. (5x2=10)
CIRFHTOTTR 2T LVBBINOR 0%, FS PTBIT 2 Gosned.

a) What do you mean by correlation ?
ABFOWOE DORTER 7

b) If bxy =—0.36, byx = —1.38, obtain ‘.
bxy = —-0.36, byx = —1.38, =38t 30@&R00.

c) Write the meaning of irregular variations.
201N WHEPHTEFOL wqﬁra‘»’a{g{ SR,

d) Expand (y — 1)6 = 0.
(y=1)9©6=0 QTR DFOR.

e) What is meant by multi-stage sampling ?
VBB BRTO A0TSR

f) Mention methods of sampling.
SVipIalelovs) e‘:)t;ﬂr{ejdgi SR,

g) What is probability ?
ROIRVEODB R0TTed 2

P.T.O.
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SECTION-B

Answerany three questions from the following. Each question carries sixmarks. (3x6=18)
O3RN TOTITLR F0RTY @%ﬁ@ﬁ SUBOR. B géﬁ ¢330 20BNE0.
2, Ranks given in a music contest assigned by two judges are given below :

Judge A: 4 5 8 6 T 3 1 2

JudgeB: 7 5 4 1 38 2 6 8
Calculate rank correlation.

Roned FRF oD [wTd BeRRFRMOTT B4 8950 3 eednPd VeRTIT,
Seperadmes A: 4 5 8 6 7 3 1 2
SeSprsms B: 7 5 4 1 3 2 6 8
3 ¢03 ABROLOGIRR FOROBOWO.

3. Calculate the two regression equations from the following data :
X =20, Y =12, 6x=5, 6, =25,r=0.8.
FINS DRTRLOT TR Eo0L3VBCZ ABMOETBNTS, FoBIEBOD.
X =20, Y =12, 0x=5, 6, =25,r=0.8.

4. Estimate the population of India for the year 2021 using Binomial expansion
method from the following data :

Year: 1961 1971 1981 1991 2001 2011

Population : 439 548 684 8 100 1M1

(in crores)

20213 ¢703% w3x0s3, 01) 83 FENS WeSpdd RO0HROT LR RER00DET DRI RO
(Clempld )

BRI 1961 1971 1981 1991 2001 2011

uéﬁoaﬂd : 439 548 684 8 100 111

(Bresnsd)
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5. Aman wants to check the inventory records against the physical inventories by

a sample survey, permitted deviation is + 5 and standard deviation is 39.4. Find

the sample size, if the confidence level | Is 90% (Value of confidence co-efficient
90% =1.64).

RCBONG T3 d:@b —aééi ACBONG @I w@@@(‘.‘d} BRCIO &6@39@ RDIBED weﬁa‘bd

RORS +5, aarm w&ﬁab 39.4 m?o aﬁowﬂmw 90%, =58 ﬁmcﬁacrb esaadaﬂa’gt
BORIZROND, (dowécda RBIOET 90% =1.64)

6. Two unbiased dice are thrown. Find the probability that
a) both the dice show the same digits
b) the first die shows 5.
TR TTRBDOT TR SRR, ﬁowmeabéodad% BOTD SBCD.
a) 0@ Baned 20z3e Hoad, OTY Bredr N
| b) Srmeson Bxr Jos, 5 Znedrmn.

SECTION-C
Answerany three questions from the following. Each question carriesfourteen marks.
| (3x14=42)
| OIRRTTETB Doty T Tgren evgon. B3 3ri14 eoznish.

7. Compute Pearson’s correlation co-efficient for the following data and also calculate

| the probable error.
Supply : 30 29 20 25 o4 24 24 291 18 15
(quintals)

Price® : 11 12 18 14 15 16 15 17 18 20
B9 BpLspos Fowoo B2 edeSon0rs LODTFFC B30z ﬁﬁﬁowogﬁdﬁg{ 5250

=0 EPr Rotieots 35 Fomrtoceon .
Awoez : 30 29 29 25 24 24 24 2 18 15
| (3ptoee)

USR) 11 2 183 14 15 16 15 17 18 20
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8.

10.

11.

Calculate trend values by the method of least-squares from the data given below :

Year : 2009 2010 2011 2012 2013 2014 2015 2016
Sales : 76 80 130 144 138 120 174 190
(Rs. lakhs)

Plot the values on a graph. Also estimate the sales for 2017.

a‘@%dﬁf DGRV 20030 FOY F GO B BRODOTIND demﬁ%oﬁa@ & 008 LSOy
&R 3022 201 78 500502 m@m& BORIBEBCIO.
¢ 2009 2010 2011 2012 2013 2014 2015 2016
aﬂmma: 76 80 130 144 138 120 174 190
(3. LERTO)

The heights (in inches) of a group of fathers and sons are given below :

Height of fathers:71 68 66 67 70 71 70 73 72 65 66
Heightofsons :69 64 65 63 65 62 65 64 66 69 62

Find the lines'of regression and estimate the height of son when the height of
father is 69 inches.

31 B3 S0t DY) m—w PZODOT S0WSD deaﬁrwa'b BOEOZEONIT. oD BT
69 ca028TiEd elapy RN ezdd o:mo DOTI) E9OTIDL).

Bordod 3T 71 68 66 67 70 71 70 73 72 65 66

TP QIO 69 64 65 63 65 62 65 64 66 69 62

Below are the data relating to wages earned by workers per day in a certain
factory. Calculate the number of workers earning more than X 75 per day by
applying Newton’'s method.

Daily wages R)upto: 50 60 70 80 90 100
Numberofworkers : 50 150 300 500 700 800

F2209F S0 TSN TR0 NPAT BeB8 AOLIOPAT TEeETH/I) TH DeBNG. O,
on. 75&03 G315 Eﬁeaaﬁ‘sb NPR0 ToOF B0 ,ooai O3, 20ERRCI0. SR amddﬁa
g, osafuf)

ga o8 Se38 (%) S35 50 60 70 80 90 100

FoR0F B0 Mo ; 50 150 300 500 700 800
Estimate the production for the years 2013 and 2015 with the help of the following data :
Year ;2010 2011 2012 2013 2014 2015 2016

Production (in’000tonnes): 200 220 260 7 350 ?7 430
IR QR s08e08ne ReoD00n 2013 6358) 2015 SRR T3 LUSES0IRD 90w AR
ot ;2010 2011 2012 2013 2014 2015 2016
3R ('000 BT NLD) 200 220 260 ? 880 ? 430




